39-1312-UBC

Universal Beam Clamp Mounting Option
Universal Beam Clamps for mounting the M-Frame platform to
the structural steel beams, columns, joist and purlins
Patent Pending

39-13712-UBC

Universal Beam Clamp Mounting Option
Universal Beam Clamps for mounting the M-Frame platform to
the structural steel beams, columns, joist and purlins
Patent Pending

—_ e 4 I —_ ) - —_ = s ———— — — — — 1 I
* o0 Qo o © © o0 Oo o *
o o
I 0 o -] o I | o -] o O |
UBC Mount Hole —| o O L UBC Mount Hole UBC Mount Hole —| O O L UBC Mount Hole
For Vertical o o ° o o For Vertical For Vertical ° o ° o ° For Vertical
Orientation (o] 0o 00 (0] Orientation Orientation (0] oo 00 (e] Orientation
o ° o o ° o
o o o o
o |O o o |O o
E o (-] E (-] o
g o (-] S o o
2| o o E| o o
o o o o
(-] -] (-] o
o . ° . o o . ° . o
o o o o
o o o o o o
o (-]
UBC Mount Hole —+0 ° ° C—- UBC Mount Hole UBC Mount Hole —+O ° ° C—- UBC Mount Hole
For horizontalor  |O ° ° o For horizontal or For horizontalor  |O ° ° For horizontal or
vertical vertical vertical vertical
orientation o 0 0 orientation orientation 0 0 orientation
o o ° o °
L O O o ) L o o o )
Washers Washers
@me Bolt UBC @MHex Bolt UBC
Universal Beam Clamps Universal Beam Clamps
8 3
£ £
k] ks
8] s}
€ E £ s
8 b3 Steel u 8 g Steel ul
Sa H-Column g Sa H-Column g
3 @ l Washer 3 @ l Washer
o [
£ M-Frame £ M-Frame
=] =
Hex Bolt Hex Bolt
Includes: Includes:
Washers Washers
(2) Beam Clamps (Attached) (2) Beam Clamps (Attached)
~Hex Bolt (2) 3/8 x 1 Hex Bolts ~Hex Bolt (2) 3/8 x 1 Hex Bolts
(2) 3/8 Flat Washers (2) 3/8 Flat Washers
Oberon, Inc g Oberon, Inc Ty

State College, PA
814-867-2312 e
www.oberoninc.com MADE IN USA

State College, PA
814-867-2312 s
www.oberoninc.com MADE IN USA



